

Government of West Bengal Directorate of Forests Office of the Divisional Forest Officer Siliguri Social Forestry Division. 32, Girish Ghosh Sarani, Hakimpara, Siliguri-734001.



No: 842/25-6

Dated, Siliguri, the 21/11/23

OUOTATION No.-36/SSFD of 2023-24

Sealed Quotation are invited from the reputed bonafide Contractors for the Repair & Maintenance Work of Beat Officers Quarter, Naxalbari at E.T.S.F Range under Siliguri Social Forestry Division.

Quotation addressed to Bidisha Basak, WBFS, Divisional Forest Officer, Siliguri Social Forestry Division should reach the Office of the Undersigned within 05.12.2023.

Please note that the rate offered should include taxes as per exiting rules.

Term and Condition

The plain paper Quotation should be submitted in sealed cover by hand or post.

The Contractors should quote the rates in figures as well as in words.

3. The Contractors should submit Income Tax, GST and Professional Tax Clearance Certificate.

Incomplete Quotation will be summarily rejected.

5. Acceptance of lowest quotation is not obligatory and the undersigned reserves the right to accept or reject any or all the quotation without assigning any reason whatsoever.

6. The quoted rate should be inclusive of all taxes.

- 7. Deduction of Income Tax from the Contractors will be done during payment of bill as per existing rule.
- 8. The payment will be made after completion of work and proper checking by Range Officer.

9. Payment will be made through ECS Payment only.

10. Payment will be made to the successful bidder after availability of fund.

11. Work should be completed within One Month after the issuance of Work Order.

Divisional Forest Officer Siliguri Social Forestry Division

Dated, Siliguri, the

No:

Copy forwarded for kind information to:-

1. The Conservator of Forests, North-West Circle, West Bengal.

2. The Range Officer, Eastern Tarai Social Forestry Range.

3. MIS Cell (mistenders04@gmail.com) with a request to kindly publish the Quotation notice to Departmental Website.

4. Office Notice Board.

Sd/- B.Basak, WBFS

Divisional Forest Officer Siliguri Social Forestry Division (See Art. 270 of the Account Code Vol. I)

Forest Directorate West Bengal SILIGURI SOCIAL FORESTRY DIVISION RECORD OF SANCTIONED WORKS

Range: ETSF Range, Bagdogra

Nature of work: Building repair at Naxalbari Beat under ETSF Range

Amount sanctioned:

Rs. 95385.70

S.L.	DESCRIPTION OF ITEM	N	0	LENGTH	BREADTH	HEIGHT	QUANTITY	UNIT	S.O.R.	AMOUNT
1	(b) Rendering the surface of walls and ceiling with white cement based wall putty of approved make and brand(1.5mm thick) Page No- 204, Item No - 5(b), of PWD SOR Vol - I (w.e.f-1/11/2017)	i i					64	sqm	110	7040
2	Stripping off worn out plaster and raking out joints of walls, celings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed. Page No- 11, Item No - 10 of PWD SOR Vol - I (w.e.f-1/11/2017)						64	sqm	19	1216
	Supplying, fitting & fixing best quality digital printed Ceramic tiles in coloured decorative on walls and floors to match with the existing work & 4 nos. key stones (10mm) fixed with adhesive 4.5 mm thick at the back of each tile & finishing the joints with white cement mixed with colouring oxide if required to match the colour of tiles including roughening of concrete surface, if necessary or by synthetic adhesive & grout materials etc. With polymerised adhesive and epoxy grout pointing including spacer - 2mm (When tiles are laid over existing hard ready surface) all complete as per direction of Engineer-in-charge. Page No- 68, Item No - 39 of PWD SOR Vol - I (w.e.f-1/11/2017)	1	4	2.1	1.8		15.12	sqm	1060	16027.2
3	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor).[Excluding cost of chipping over concrete surface]							sqm		
	(ii) With 1;4 cement mortar			-						
	(b) 15 mm thick plaster									
	Room 1 - wall	1	2	3.67	3.02		22.00	Sqm		
	Room 2 - wall	1	1	2.87	2.93		8.00	Sqm		
	Room 2 - ceiling	1	1	2.87	3.00		9.00	Sqm		
	Room 3-wall	_1	1	3.01	2.43		7.00	Sqm		
	kitchen - wall	1	2	2.10	1.80		8.00	Sqm		
	kitchen - ceiling	- 1	1	2.10	1.50		3.00	Sqm		
	varandha - wall	1	1	1.89	1.79		3.00	Sqm		
	roof side wall	1	1	2.00	2.00		4.00	Sqm		
	Page No- 189, Item No - 1,ii,b,of PWD					Total	64.00=		155.00	100.00
1	SOR Vol - I (w.e.f-1/11/2017)		9	5,215		Total =	64.00	Sqm	157.00	10048.0
4	Neat cement punning about 1.5mm thick in wall, dado, window sill, floor etc. NOTE:Cement 0.152 cu.m per100 sq.m.									
	Page No- 192, Item No - 15,of PWD SOR Vol - I (w.e.f-1/11/2017)	Same as Area SI No 06					64.00	Sgm	34.00	2176.00

40 mm. thick damp proof course with									1
cement concrete (1:1.5:3) (with graded stone							1 4		
chips 20 mm nominal size) with water									
proofing compound of approved brand @						\$0.1 W	1000		,
0.2% weight of cement including cost of	100								
materials over two coats of non toxic acrylic									
polymer modified cementitious		- 1							
waterproofing slurry coat complete [cost of									
water proofing compound and non toxic		1							
water proofing compound and non-toxic		1							
paint to be paid seperately) for underground									
water retaining structure		-					1		
roof area	1	1	3.00	2.00		6.00	Sqm		
Page No- 47, Item No - 4,0f PWD SOR Vol - I (w.e.f-1/11/2017)					Total =	6.00	Sqm	309.00	1854.00
(b) Priming one coat on timber or plastered								1	
surface with synthetic oil bound primer of						1			
approved quality including smoothening	- 1						1		
surfaces by sand papering etc.	1				1			1	
January of Carlo Papers									
Room 1									
Wall	1	4	3.88		2.92	45.32	Sqm		
Ceiling	1	1	3.88	3.07		11.91	Sqm		
Room No.2	1	4	3.88		2.92	45.32	Sqm		
Wall	-		3.88	3.07	1-72	11.91	Sqm		
ceiling	1	1	5.88	3.07	+	11.21	oqui		
Room No. 3						27 (1	0	-	
wall	1	4	3.22		2.92	37.61	Sqm		
ceiling area	1	1	3.22	2.48		7.99	Sqm		
kitchen		5 - 16 3	1000						
wall	1	4	2.28		2.92	26.63	Sqm		
The second secon	i	T	2.28	2.00		4.56	Sqm		
ceiling	1	1	2.40	2.00	+				
Varandha		-	2.12	-	1 202	27.22	Com	+	
wall	1	3	3.12		2.92	27.33	Sqm	-	
ceiling	1	1	3.12	2.00	1	6.24	Sqm	+	
Varandha backside									
wall	1	3	1.89		1.79	10.15	Sqm		
ceiling	1	1	1.89	2.00		3.78	Sqm		7/1 / July 1991
Deductions	1	<u> </u>	1						1
	-1	4	2.00		0.87	-6.96	Sqm		
Door	-	-		-	0.87	-5.74	Sqm	1	
windows	-1	6	1.10	-	0.07	-3,14	- Oqiii	++	
Page No- 200, Item No - 1,(b), of PWD			1		an	22/ 05	C	20.00	8590.00
SOR Vol - 1 (w.e.f-1/11/2017)					Total =	226.05	Sqm	38.00	0230.00
							-	-	
6 (A) Painting with best quality synthetic		1					1		
enamel paint of approved make and brand		1							
including smoothening surface by sand		1							
papering etc. including using of approved		1							
putty etc. on the surface, if necessary:									
(a) On timber as algebraid furthers		-	-	-		-			
(a) On timber or plastered surface :	-	-	-						
With super gloss (hi-gloss) -	-	-			-				
(iv) Two coats (with any shade except	1						1		
white)			1				-	-	
	Same as Area SI No 2				- 2	226.05	Sqm		
Ground Floor Drawing Room									
Door	1-	4	2.00		0.87	6.96	Sqm		
Door .	1	6			0.87	5.74	Sqm		
Page No- 200, Item No - 2,(a) (iv), of									
PWD SOR Vol - 1 (w.e.f-1/11/2017)					Total =	238.75	Sqm	81.00	19339.0
T WU SOK VOI - 1 (W.C.1-1/11/2017)	T SV						24.00		
7 Charles and a section of the secti	-	-	-						
7 Electrical repair work (changing of full									1
	1					100.00	rmt	85.00	8500.0
wire 100 rmt @ Rs. 85, placing new									
									-
wire 100 rmt @ Rs. 85, placing new switch boards etc) including labour cos						1			1
wire 100 rmt @ Rs. 85, placing new						p		202222	
wire 100 rmt @ Rs. 85, placing new switch boards etc) including labour cos 8 Plumbing work (Placing new taps in						1.00	No	3600.00	3600.0
wire 100 rmt @ Rs. 85, placing new switch boards etc) including labour cos 8 Plumbing work (Placing new taps in kitchen, wash basin, bathrooms, fitting						1.00	No	3600.00	3600.0
wire 100 rmt @ Rs. 85, placing new switch boards etc) including labour cos 8 Plumbing work (Placing new taps in kitchen, wash basin, bathrooms, fitting anf fixing water pipes)									
wire 100 rmt @ Rs. 85, placing new switch boards etc) including labour cos 8 Plumbing work (Placing new taps in kitchen, wash basin, bathrooms, fitting anf fixing water pipes) 9 changing windows 1 nos (including						7.00	No MD		3500.0
wire 100 rmt @ Rs. 85, placing new switch boards etc) including labour cos 8 Plumbing work (Placing new taps in kitchen, wash basin, bathrooms, fitting anf fixing water pipes)									3500.0

91717.02		
917.17		
92634.19		
2751.51		
95385.70		
9330011		

(Rupees ninty five thousand three hundred eighty five paise seventy only)

Conservator of Forests North West Circle, W.B.

Divisional Forest Officer Siliguri Social Forestry Division